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DIVISION AND DIVISION FACT'z 2 3 2

We have studied that division is a repeated subtraction.
EXAMPLE 1 : How many times do we subtract 3
from 12to get 0 ?

T 000 o000
oo (00 0] [0 0 0| [0 00
12-3=9 9-3=6 6-3=3
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. Thus, we can subtract 3 from 12 four times to

get 0, as there are 3 fours in 12.
In other words, we can say that 12 divided by

3 is equal to 4.
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In symbols, we have 12+ 3 =4. This is also

called division fact.
Here, 12 is the dividend, 3 i1s the divisor and 4

IS the quotient.
<
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DIVISION FACT
We know that 4 x 2 = 8.
. Division facts of 4 x 2 = 8 are
8+2=4and8+4=2
So, every multiplication fact gives two division

facts.
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- EXAMPLE 2 : Divide 15 toffees equally among three girls. |
SOLUTION :

Number of girls = 3

Total number of toffees = 15
K Number of toffees for each girl
=15+3=5 66
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EXAMPLE 3 : Share the following equally :

(a) 12 eggs among 3 persons

(b) 16 tomatoes among 4 children
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| 3 SOLUTION :
(a) Total number of eggs =12

Total number of persons =3
Now, the number of eggs to be shared among

=

each person
=12+3=4
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(b) Total number of tomatoes = 16 Total number
of children =4
Now, the number of tomatoes to be shared

among each child =16 +4 =4.
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- EXAMPLE 4 : Show division as repeated subtraction by |

dividing 30 by 5.

SOLUTION: 30+5

can be shown as repeated subtraction as given below :
K 30-5=25,25-5=20,20-5=15,
15-5=10,10-5=5,5-5=0
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Here, 5is subtracted from 30, 6 times .

Also,30+5=06
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1 Subtract 1 repeatedly from 3.
3

-1 —

2

-1 -
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| 3Wefindthatwecansubtractl Z O %

= repeatedly from 3 for three times.
Hence, 3+1=3
Similarly, 4+1=4
5+1=5
\ -,
9+1=09 etc. =

We observe that :
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1 divides every number exactly and

the quotient is the number itself.
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- | 2l subtract 3 from 3.
So, we can subtract 3
from 3 for one time.

Hence,3+3=1 3
Similarly, 5+ 5 =1, -3
8+8=1etc. 0

We observe that :
Every number (except zero) divides itself @;

exactly and the quotient is 1.
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3- <] Subtract 0 repeatedly from 3. 70 2 J

= 3
When we subtract O from 3,

-0 —

the difference remains same i.e. 3. 3
Similarly, if we subtract 0 from 2 il

~ repeatedly, we get the difference 2. 2
Q o —

We observe that : 3

We can not divide any number by O.
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- Can we subtract 3 from 0 ? |
No. Therefore, we can say that 0 + 3 =0.
Similarly,0+4=0,0+5=0 etc.
We observe that :
K When 0 is divided by any number (other than 0),

the quotient is zero.
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'S LONG DIVISION (WITHOUT REGROUPING) . %)
DIVISION WITHOUT REMAINDER

EXAMPLE 5 : Divide 84 by 4.
SOLUTION: 84 +4=(8tensand 4ones)+4=2

tens and 1 one =21 Working4)84 2
K The Long Division method to get the quotient
21 can be done as follows : @:
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We arrange the numerals as shown at
the right. From the multiplication table
of 4, we get 4 two’s in 8. So, 2 is -
the quotient here. 7
We write 2 at the tens place In

the quotient and product 8 at /

the tens place below the dividend. /@
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Step 2 : Subtract product 8 from the tens
dividend 8. We get 8 tens — 8 tens = 0 tens.
We write O as shown.
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Step 3: We write 4 ones as shown and divide.
4o0ones +4=1o0ne
We write 1 at the ones place
In the quotient.
K The product 4 is written below 4

as shown at the right.
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Step 4 . We subtract 4 from 4, 1.e. 4 —
We write 0 as shown.

Here, remainder is 0.

K Thus, the quotient is 21.
In symbols, we write as 84 +4 =21.
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Divisor 21 =—p Quotient
/84 — Dividend
-8

04

-4

0 =—» Remainder
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EXAMPLE 6 : Divide 884 by 2 and then verify the
answer.

SOLUTION : To divide 884 by 2, follow the steps
given below.
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_ 4472 —» Quotient 1 2 3 /9
/884 — Dividend
-8
08
-8
Q 04
—
0 —> Remainder
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4 Step 1: First, we divide hundreds.
8 hundreds = 2 = 4 hundreds.

Step 2 : Then, we divide tens. 8 tens + 2 = 4 tens.

Step 3: Lastly, we divide ones. 4 ones + 2 = 2 ones.
So, we write 4 at the hundreds place,

K 4 at the tens place and 2 at
the ones place in the quotient.

Therefore, 884 =2 = 442.
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| ~ Verification : Z Q

=

Here, Dividend = 884, Divisor = 2 and
Quotient = 442.

We know that, Divisor x Quotient = Dividend
|.e. 2 x 442 = 884

K So, 2 x 442 = 884, hence the answer Is @

3

I/

verified and it Is correct.
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EXAMPLE 7 : Divide 16 by 3. |

SOLUTION : First, we arrange the numerals at

right places. 2
V16

5
\ 16

=




S
5 — Quotient < 2 f)

V16 <«— Dividend
-15

1 —— Remainder
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| Step 1 : From the multiplication table of 3,

we have
3x5=15<16
3x6=18>16
So, here dividend is 15 and 5 Is the quotient.
K Write 15 below the dividend. -~
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Step 2: We subtract 15 from 16.
16-15=1
Hence, quotient = 5 and remainder = 1.
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= We know that

Dividend = Divisor x Quotient + Remainder

Here, dividend = 16, divisor = 3, quotient =5 and

remainder = 1.
So, divisor x quotient + remainder =3 x5+ 1= P
16 = dividend f '
Hence, the answer is verified and it is correct. —
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EXAMPLE 8 : Divide 729 by 8.

=

SOLUTION :
Follow the steps as we explained above. §\\

Hence, quotient = 91 and remainder = 1.
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Verification : Z 2 3 /5)

Using the rule,

8x91+1=728+1=729 =dividend Hence,

the answer is verified and it is correct.




>/\l-w .

W,ﬂ 0000000006000 060000000000006000 06 O
S 9 3/)'
o

] EXAMPLE 9 : Divide 4508 by 5 and find the quotient
and remainder. - -
SOLUTION : From the division as shown at right,§\\‘ P

we find that the quotient = 901 and

K the remainder = 3. /@

=p,
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[ Verification : Z O %

=
Using the rule,

5% 901 + 3 =4505 + 3 =4508 = dividend

Hence, the answer is verified and it is correct.
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= LONG DIVISION (WITH REGROUPING)

DIVISION WITHOUT REMAINDER
We have already learnt how to divide
a 2-digit or 3-digit or 4-digit number by
a 1-digit number using long division

K without regrouping.
Let us learn such division with regrouping.
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EXAMPLE : Divide 96 by 4 and verify the result.

SOLUTION :




3Verification: Z 0O & /5)

Using the rule we have,

4 x 24 = 96 = dividend. Hence,

the answer is verified and it is correct.




S EXAMPLE : Divide 752 by 8. Z 9 {)
SOLUTION :
Follow the steps as explained before.




Verification :

8 x 94 =752 = dividend
Hence, the answer is
verified and it is correct.




3 EXAMPLE : Divide 6795 by 5.
SOLUTION :




Verification :

1359 x 5 = 6795
Hence, the answer is verified
and it Is correct.
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<
Using the same general method as
that of division without remainder,
let us study how to learn such division

with remainder.

z §0> § 5,




gEXAMPLE: 4 9 3 [/j)

Divide 26 by 3 and verify the answer.

SOLUTION :
To divide 26 by 3,

follow the steps given below.
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<  Step1l:
We arrange the dividend.
From the multiplication table of 3,
we have 3x8=24<263%x9=27>26

So, here dividend is 24 and 8 is the quotient.
Write 24 below the dividend




Step 2.
We subtract 24 from 26.
26 —24=2
Therefore, 2 is the remainder.
Thus, during this division , we get the answer
K as 8 for the quotient and 2 for the remainder.
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| 3 Verification :
We know that

=
Dividend = Divisor x Quotient + Remainder

Here, dividend = 26, divisor = 3,
guotient = 8 and remainder = 2.

Now, divisor x quotient + remainder =3 x 8 + 2 = oo )
26 = dividend f |

Hence, the answer iIs verified and it IS correct. §
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EXAMPLE : Divide 746 by 8. 4 9 3 /9 |
SOLUTION : |
We have to take the steps as explained before.
03
8)726 Hence, 746 + 8 gives 93
il as the quotient and 2
26 as the remainder.
-24




EXAMPLE : Divide 6799 by 5. 4 9 3 /
SOLUTION

Here remainder is 1 thousand and then we
bring down 7 hundreds to make 17 hundreds.

"15x3 b« 7
5x 4 =20>17. So next quotient digit is 3 with
remainder 2.

Remainder is 2 hundreds and then we bring
down 9 tens from above to make 29 tens.

I
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_ ﬁ EXAMPLE : Divide 6799 by 5.

step :
Since 5x5=25<29

and 5x6=30>29
We take 5 as the next quotient digit. o
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_ F EXAMPLE : Divide 6799 by 5. 4 2 3 /9
| step :

We first subtract 25 tens from 29
tens to get 4 tens, then bring down

O ones to make 49.
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EXAMPLE : Divide 6799 by 5. Z 9 /9 |

step :

Since 5x 9=45<49, we take 9 as
the next quotient digit.
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EXAMPLE : Divide 6799 by 5. Z 9 /9 |

step :

We Subtract 45 ones from 49 ones

to get 4 ones at the remainder.
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Hence, 6799 + 5 gives 1359 as |
the quotient and 4 as the remainder.
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EXAMPLE 16 : Divide 489 by 10.
SOLUTION :
10)489 (48
- 40 Hence, 489 + 10 gives 48 as
K 89 the quotient and 9 as the
_ 80 remainder.
9
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EXAMPLE : Divide 5493 by 10.

=
SOLUTION 549
10)5493 ( -
-50 =&
— 49
-4 0 R
Hence, 5493 + 10 gives

549 as the quotient

K 93
-90
= 3 and 3 as the remainder.
O o My
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From the above two examples, we get :

I

T
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If we observe the above carefully, |

we find that when a number is divided by 10,

the quotient is obtained by removing the digit at

ones place, and the digit at ones place is the

K remainder.
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A teacher distributed 387 toffees equally among 9
children. How many toffees does each child get ?

3

I/

SOLUTION :
For 9 children, the no. of toffees = 387 For 1 child,
K the no. of toffees = (387 + 9) =43

Thus, each child gets 43 toffees.
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9)387(
- 36
~27
27
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The product of two numbers is 48.
If one of them is 8, find the other number. -

SOLUTION : In order to find the other number,

we divide 48 by 8.
Thus, the other number is 6.
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